C 1 S

F10E £E6AF/NNL—R—ILY—TREBXBHAS REV—J XF

2020/02/16 ..

XAEDEFER., AEFHEAEBANL—R—LGECRELET .

7 ) i E 7 \ E ~ " =
I 71 S P 2 o R (N A O S B I = U LSl R
N F—L a'; L 5 7 M I L - S 3 E F |8 vy R =
iz e R — M M 1 L 0 A 7 G B}sBH = KR o= | R R | =
~ L ] E X N 2
1 W E 8B4 O 200 211 |0 211 |0 20 2-0 |0 2-0 2-0 O 2-0 2-0 |9 18 9 0 1.000(18 2 9.000| 495 & 383 |1.292
2 T4 LR M)—rIXEER ® 0-2 -0 |O 20 02 |O 20 [O 2-0 |O 2-0 2-0 |8 14 6 2 0.750 |12 4 3.000| 377 | 251 |1.502
3 #HZ & HVCsala e 1-2 o 20 2-1 02 |O 20 [O 20 |O 2-0 2-0 |8 /14 6 2 0.750(13/ 5 2.600| 429 | 310 |1.384
. ‘| .
4| oute ZJ7X'\)1;‘E%'747 o 12 ® 0-2 O 20 -1 |o 220 |O 2.1 |O 2-0 2-0 |8 14 6 2 0.750 |13 6 2.167| 431 | 350 |1.231
5 n;? ERER—F vy ® 0-2 -1 o 2-0 -2 |0 2-1 |O 20 |O 2-1 2-1 |8 14 6 2 0.750 (138 1.625| 475 | 431 |1.102
247
6 CLUB EHIME ® 02 (@ 02 (@ 12 ® 1-2 -1 O 20 [O 2-0 |O 21 2-0 (9 14 5 4 0.556(12 10/1.200 | 500 | 437 | 1.144
7 BHEF7ILARX ® 02 |® 02 ® 02 |® 02 0-2 |@ 12 |0 20 |O 20 2-0 |9 123 6 0.333|7 12 0.583| 344 | 400 |0.860
8 H—LiE ® 02 |0 20 |0 20 |®@ 12 [O 2 -2 [0 2-0 711 4 3[0.571]10 7 1.429| 385 | 357 | 1.078
Ligare
Sendai
9(EPSON ¥ a—xFv > ® 02 ]|® 02 |®@ 02 |@ 12 0-2 |0 241 ® 12 2-0 | 810 2 6 0.250(6 |13 0.462| 369 | 396 |0.932
10| TR | 94 BEE ® 02 |®@ 02 |@®@ 12 |®@ 02 02 |@ 02 O 21 2-0 [8 10 2 6 0.250 |5 13 0.385| 372 | 384 | 0.969
11 RRET7RHB ® 02 |® 02 |®@ 02 |® 02 |®@ 1-2 -2 |@ 0-2 7.7 0 7/0.000]2 14 0.143| 298 | 395 | 0.754
12 (‘) =ZUFJER1T ® 02 |®@ 02 |® 02 |®@ 02 |[@ 12 0-2 |@ 0-2 ® 02 |®@ 02 912/0 9 00001 18 0.056| 83 | 464 0.179
MUFG
Ba=R2n BE1a EEOR BE=H--RE% ty FE=8Btyr-ktybt BAR=FAHLA




 C 2 BNt e s 2020/02/16 5

F10E £E6AH/NNL—R—IL)—TREBLXEBRRS REUV—U XF

TEIVIRER NNy IOFEFvIED) B (#ER)
= t s < t 7 7
1|#+A=EVCsala 8 18 652 246 34 371.7 1 |CLUB EHIME 9 22 315 28 32 375
2 |LIF R RERTT 9 20 829 311 42 31.5 2 (LB R RERAT 9 20 311 41 19 371
3[7+ LR FY—TRRER 8 16 568 203 30 35.7 3 [ERFER—Fv vy 8 21 282 24 15 321
41y o RN 2EHETT7—L| 8 19 681 232 57 34.1 4 |#Z=MEVCsala 8 18 246 42 16 304
5 |CLUB EHIME 9 22 948 315 74 33.2 5 (2voRNYEET+T7—L| 8 19 232 23 32 287
6 |UA—LUE 7 17 675 219 30 32.4 6 | AH—LAE 1 17 219 39 24 282
VA R = Bk v AV 8 19 636 197 60 31.0 7|7+ LR FY—TXEER 8 16 203 30 13 246
8 |EREB—F v vy 8 21 937 282 74 30.1 8 (35 EH=E 8 18 187 19 27 233
9(ra35EH=E 8 18 649 187 61 28.8 9|eq4a—xFV> 8 19 197 18 8 223
W|EHF7ILAX 9 19 592 153 51 25.8 10[RRXET7RFH 7 16 167 17 13 197
MRRET R$HiE 7 16 680 167 54 24.6 NEH7ILA4X 9 19 153 18 17 188
12| =ZUFJER1T 9 19 194 45 18 23.2 12| =2 UFJERTT 9 19 45 6 5 56
TEYYRER (%) =FRITHx100 BBR=TEYIBR+IAVIBRHY—TBR
e
+
#
1|#Z=HEVCsala 8 18 42 2.33 1T (RyyR1N)2tEET+T7—L| 8 19 | 379 32 150 | 47 15.2
2 (VA—LE 7 17 39 2.29 2 (32 EBHE 8 18 | 326 27 123 | 38 14.8
3 (B RIRIT 9 20 4 2.05 3 [CLUB EHIME 9 22 | 451 32 169 | 33 14.6
417+ LR M= XER 8 16 30 1.88 4 (U A—LUE 7 17 ] 383 24 130 | 33 12.6
5 |CLUB EHIME 9 22 28 1.21 5 [#ZEMEVCsala 8 18 | 375 16 19 | 17 1.1
6 vy RN 2tElET4T—L| 8 19 23 .21 6 (LB hRIRIT 9 20 | 487 19 156 | 18 11.0
1([EEEBS—Fr v 8 21 24 1.14 1 |=2UFJRIT 9 19 85 5 22 5 10.9
8 [RRET7R#EH 7 16 17 1.06 8 [BBT7ILAX 9 19 | 297 17 85 25 10.8
9(rasEHE 8 18 19 1.06 9 |BRAFEE>—F v vy 8 21 | 4N 15 154 | 30 9.8
W|B#H7ILA4X 9 19 18 0.95 10[RRET XA 7 16 | 305 13 84 20 9.5
10[g1a—xzFv> 8 19 18 0.95 N|eqa—xrvy 8 19 | 325 8 110 | 19 9.5
12 (=2 UFJERTT 9 19 6 0.32 12|74 LR b= XEER 8 16 | 324 13 80 10 9.4
1Y bHEYDTRYVRERY (X) =/BRTHBEY b Y—THEE (%) =(HP—ERT—Xx100+3E x25—%kH x256) +iTH

" i 2152|558 ]x %

fiz ﬁ §|;[ # & E 3 =

1Ry y RNy 2EBT4T7—L| 8 19 1321 [ 157 | T 93 60.0
2 [#z & MEVCsala 8 18 | 286 | 134 | 53 99 56. 1
3 |CLUB EHIME 9 22 | 414 [ 185 | 86 | 143 55.1
4 |[EEEH—F vy 8 21 | 401 [ 171 | 98 | 132 54.9
5 |ZZUFJERTT 9 19 | 107 | 44 28 35 54.2
6|t1a—xFV> 8 19 | 352 | 157 | 64 [ 131 53.7
1|74 LR MY —JXEER 8 16 | 228 | 83 59 86 49.3
8 [UA—LE 7 17 | 324 | 120 | 76 | 128 48.8
9|32 EHE 8 18 | 347 | 119 | 9 137 47.4
10| 1L B R RERTT 9 20 | 349 [ 123 | 82 | 144 47.0
NMEH7ILAX 9 19 | 364 | 129 | 81 154 46.6
12[RRET7RHH 7 16 | 356 | 115 | 99 | 142 46.2

Y—TLI—TRIE (%) = FIE] x100+mI[R] x 50) +$TH

REAEDEFER. AEFHEAEBANL—R—LBECRBLET .



K&E) B\ 52175 > 4> 2 (Best15) 2020/02/16 -

F10E £E6AFINL—R—L) —THREBLBHBRE RE)—7 XF

FEIVIRER (J\yTTHYITED) B (BER)
= + =t t 7 7
W g sue | Sl 2 | B |5 B | |8 = e | B2 2 |50 8
# . #® 2 9
1 (=% He YAH—L 7 15 88 41 3 46.6 18T BE&E B ER 9 20 96 7 6 109
2 |PHt BERE J4F7—L 7 15 147 67 6 45.6 2 |1ER CEH 3 1 16 79 6 5 90
3 |EM Fx LB R ER 9 20 98 44 6 44.9 3(lp B4F EHIME 8 20 67 14 6 87
4 ik & LB chER 9 20 80 35 1 43.8 4|18 FE EHIME 8 20 70 1 4 85
5| AL EK T+ LR 7 14 129 56 6 43.4 5 |#EH% BR 3% 1 16 64 6 5 15
6 |okHE #H=X LB ER 9 16 72 31 3 43.1 5 |t BER EPSON 1 17 64 9 2 75
TR C&H B3 7 16 185 79 12 42.7 1|EE BEX EHIME 6 16 63 3 1 13
8 |h% ER 3 7 16 109 46 3 42.2 8 |h# ERE J4T7—L 1 15 67 4 1 12
9 |l Z=BR B3 7 16 83 35 4 42.2 9 AT K PEAZS 1 14 56 7 5 68
10|&W EX —Fruv| 8 21 123 50 4 40.7 10]i%:8 # Y H—L 1 16 50 5 8 63
1|+ BFR EPSON 7 17 158 64 13 40.5 11| &8 AR EHIME 1 17 59 0 3 62
12888 BE EHIME 8 20 176 70 1 39.8 12|48 2R b3 1 16 46 1 4 61
13T E&E LB R ER 9 20 246 96 16 39.0 13| F# Ei J4T—L 1 16 51 6 3 60
14|iEm wx =P 7| 16 169 64 | 12 | 37.9 13|&L H7E s—Fvuy| 8 | 2 52 4 | 4 60
15[mA B EE 7| 16 97 36 | 13| 371 13| & b s—%xyy| 8 | 21 50 7] 3 60
THYYREE (%) =FR-ITH*100 BBR=72vIBR+ITOvIBR+H—TBR
5
w | b a2 | ;
" K4 F—LE ;Zi ;i I i p £ F—L& § ;gz g1%812] % %
15
1|/ &g TR 25 7] 9 20 17 0.85 1|=®% B8 J4T—L 1 17 47 8 22 1 1229
2 | K& £ UH—L 7 17 13 0.76 2 | KB =Tt 7ILA4RX 8 17 52 7 23 4 122.6
3R BLE EHIME 8 20 14 0.70 3 |fRik A% ~a% 1 16 66 6 35 4 120.8
4 |1k RE RZRE7R 7 16 1 0.69 4 |AT EBK PEAZZ S 1 14 42 5 14 1 19.6
4|1h% ER B3 7 16 1 0.69 5|RLL HE 3% 1 16 47 5 23 1 19.1
6|ov—U— #5332 |7ILAX 7 15 9 0. 60 6 |EE BHE J4T7—L 1 17 60 6 25 5 18.3
T|XK £bZF 7+ LA+ 7 14 8 0.57 1|58 HE Yy H—L 1 15 44 5 13 1 18.2
8 |Bil =B v 7 16 9 0.56 8 [#5K XTh =K 1 16 16 8 30 1 18.1
9 1T FE EHIME 8 20 " 0.55 9 |4EBR BE 3% 1 16 49 5 17 3 17.3
10t BHER EPSON 7 17 9 0.53 10|18 2R 3 1 16 47 4 18 2 17.0
e #£A T+ LA 7 14 1 0.50 1|iEE & YH—L 1 16 52 8 15 12 1 16.8
AL #XK T+ LAk 7 14 1 0.50 12|@# KED EHIME 8 20 69 5 26 2 15.9
13[FRE RER B3 7 16 1 0.44 13|Mig ZED RZAE7R 5 12 38 3 14 2 15.8
14|k%k Em YAH—L 7 14 6 0.43 14|80 B 3 1 16 62 5 22 3 15.7
15(F# B J4T7—L 7 16 6 0.38 15| KE &4 YH—L 1 17 64 5 25 5 15.6
Ty bHEYDTOVIRERE (K) =BR-HBty b H—IHRE (%) =(H—ERXI—ZAX100+HE x 25—k m x25) —4T#
= + 23 o3
W ke e | S| 2|52 (2]5]23
- & R
1|5F =& Ja4T—L 7 15 34 23 3 8 72.1
2 |tk HYH YH—L 7 17 34 19 8 1 67.6
3 |RE RER w3 7 16 38 22 6 10 | 65.8
4 it BERE Ja4T—L 7 15 48 28 6 14 | 64.6
5 |%ith R EPSON 7 17 61 33 12 16 | 63.9
6 | T+ Eig J4T7—L 7 16 67 32 18 17 |61.2
1|#% BE —Fvyuv| 8 21 129 | 62 31 36 | 60.1
8 |/NE &£F EPSON 7 17 57 31 5 21 | 58.8
9 |FKk KF 3 7 16 149 13 29 47 | 58.7
10 EX J4T7—L 7 13 56 25 15 16 | 58.0
"njun #4& EHIME 8 20 131 62 24 45 | 56.5
122(MF BE& LB ER 9 20 128 53 34 41 | 54.7
138t #ExF EPSON 7 17 132 | 60 24 48 | 54.5
14[AE %E T+ LA 7 14 56 23 15 18 | 54.5
15(EL A1 —Fvyuvy| 8 21 80 34 19 27 |54.4

P—TLI—THRME (%) =R E] x 100+ [R] x 50) +T%

XAEDEFER. ARFEENBANL—R—LBECRELCET .



108 SEOAHNL—K—LU—REBREBXSE RBU—7 k7 R HERIHSAESK

@ BR:t o RmR  sans 340 mien 2020/02/15 Mo SRHD
BEH

JURY : F—LI b | B | 1 2 3 4 5 | &&t
BHARER . 11:00 x = = #UFJERIT 0 0 0 0 0
& THERS gl = 42— FYY 2 2 25 | 25 50
HErmR YIES : AR
0 e e . EPSON
=ZUFJER1T N tAa—xT7V>
MUFG
1set 2set 3set 4set bset 1set 2set 3set 4set 5set
BB
a—F
Of% 78K R 2558%
2 B A 9
- Z - Z - BA LTk N B Z Z I
B2 e BR Y= EfiriE & BR E B2
R E (%) 0.0 T 5B 0.0 R E (%)
R E (%) 0.0 (RN I THRYY) 0.0 R E (%)
v FEHE) | 0.00 Jawvy 0.00 |ty hEHEH
B E (%) 0.0 $—7 0.0 B E (%)
FRIEE (%) 0.0 $—JLL—T 0.0 FRIEE (%)
F—LTAI b+ 0 HFEDIR 0 F—LTAIL b+
&t
Higt v b TEAYY (R D75 99) Jovy H—7 H$—JLI—7J
Hy = 5 = 5 e B g
=HUFJIRAT E /18 % - Yolg /e g Y |8/ xn Z |[2yoy
/1 2 3 4 5 = k = k L ol s )
ﬁ Woala £ g |BARA E IR 3 |[BARE T |& alal %=
1 #
F—LA&E
Higt v b TAYY (R TE9Y) Jovy H—J H—JLI—7J
£ £
E4a—T TV H mex B Y liexe R |lm Y lsesawnw 2 lzypm B
B/1 2 3 4 5| E N E Pk L 4 b
9 #ARR s |BRA E IR 3 |[BARE Z | wlal %
1 19
F—L&E
XHBEY hv—4 . B=R4—F 1 T AL N— O=%KEF L=0UAD
TEAYYREE (%) =FBR--TH x100 TRYIRERY (K) =Rty ¢ TRV REREK (K) =BA-HEEY MK
H—THREE (%) =(H—ERI—ZAx100+3E x25— %A x25) +#H H—TLI—THHME (%) = (FKH[E] x100+mH[B] x50) +TH

XABOEER. ARHMEADA L—F—LBERELET.



gﬁéﬁ%ﬁﬁ&‘ He®&S 341  BMER 2020/02/15 Bt BREED

108 2E6AFINL—R—L)—TREBREBAS RBU—F &7 =15 BEEITHATSI

BEHN 150 JURY :  JkfEl & F—Ls byb | BER | 1 2 3 4 5 | &%
BHtABERD . 14:20 £ #: FWL EBEF RZET7REE 1 1 26 21 22 69
#wrEf: 1544 Bl F: B E—H CLUB EHIME 2 2 24 25 25 74
HARKM:  01:24 HEE: HEA EE S&RRI[ 00:27 | 00:25 | 00:26 01:18

RRAET7 RA#iA VS CLUB EHIME
1set 2set 3set 4set bset 1set 2set 3set 4set bset
6 11 15 6 11 15 6 11 15 Hth FHRE BB K £ 10 11 1310 11 1310 11 13
3) (3) He Fi a—F 2)
4 16 1 .10 16 1 10 16 1 0B%58% ® 5h% 38K 16 17 1 .16 17 1 16 17 1
(10) (4) 5 % = 13 (4)
oo ez | on - i 5ALTY b A _
S FIE: B £ B s TH B EY= ST
REE (%) 30.8 117 36 4 TRy 151 52 13 34.4 RIEE (%)
REE (%) 33.3 3 1 1 (RN O TAYY) 0 0 0 0.0 REE (%)
£y FEH(R) 2.00 — 6 — Javsy — 3 — 1.00 v FEH (R
HEE(%) | 13.6 70 5 1 $—7 73 6 7 14.4 | HERE (%)
FXIhEE (%) 43.7 — —_ —_ H—JLi—7 —_ —_ — 58.7 I E (%)
F—LTFIL bk 8 — 22 — HFOIR — 13 — 2 F—LTFI bk
187 69 5 &5t 224 74 20
HistE Y b TEYY (I EEPY)) Jovy H—7 H—JL—J
X P 25 i # 5 # 5 e mI
RZRETREB R 2345;1%95& % 4 ?Tf%ﬂﬁ& = |# 4 gﬁﬂ;% % %UJI)J o
;& \\\\\\\\ $ :': |||||||| $ :F |||||||| $ E E $
1] 1]
1 Mg BED 3 m m m 27 12 1 44.4 400 [1 /10 1000 |1 03 [0/ 2 0 4 30 |12 5 2 500
3 Hep FR 2 o o 71,0 143 0.50 [0/0 0 - 0 - olojolo - 0.0 0 -
4 fE RE 2 m O 0/0 0 - - 0/0 0 - 0 - 3.0 0 1 83 [0 0 0 -
5 | L #E R 3 L L L 000 - - 0/0/0 - 0 - olojoo - 189 4 6.1
6 FiF R 3 m m m 83012 1 219 400 [2 01 0.0 |0 - 4.0 0 6 107 [12 1 3 208
10 | ¢ x& %= 3 Om m 2000/ 00 000 (000 - 0 - 3:.0/0 0 00 |o 0o o0 -
1 FH #3 3/m m m 14 4 0 286 .33 |0 0 0 - 0 - 19 2 0 6 184 [0 0 0 -
15 BRI BTy 3/m mm 830 315 .00 |0 0 0 - 103 (11|12 11.4 |20 5 5 315
16 R RE 3 W E N 16 4 2 250 .33 0o 0 0 - 4 133 100 0 0 00 [1 0 1 500
F—L&E 3 1736 4 | 30.8 12200 [ 3|1 /1] 3.3 |6 200 |70/ 5 1 /19 136 |63 20 15 43.7
WSty b FTEYY RNy IT7EvY) ovy $—37 H—JLi—3J
L . 4 B
CLUB EHINE B, 3 4 slumx B Y lmex 2w Y lnexn 2 |lzwmwm P
e # R & T [BRR x [R ¢ [BRSE%E F |& E E =
1] 2]
1 B KETH 3 M E m 21,0 500 0.33 [0 0 0 - 0 - 5 0 0 3 150 |o 0 o0 -
2 ERK AR 1 O 0 0 0 - - 0/0/0 - 0 - ololol o - 1.0 0 0.0
4 S 1 O 11,0 100.0 .00 |0 0 o = 0 = 2.0 0 0 00 Jo o o =
9 | L % S 3L L L 0/ 0 0 - - 000 - 0 - olololo - 19 1203 71.1
10 o BaE 3/m E m 26 9 1 346 300 |0 0 0 - 103 |14 113 107 |21 8 2 429
1 KiF BE 3 mEm 2% 4 4 16.0 .33 ]0 0 0 - 0 - 17 2 17 2.6 [13 8 1 654
13 R 5% 3/ m m m 39 13 3 33.3 433 [0 0 0 - 0 - m o1 2 2 9.1 5 5 0 1000
16 | c s 52 3 mEm 34 14 4 M.2 467 (000 - 2 067 |12.1 1 4 146 [0 0 0 -
17 HIE BRE 3/m m m 24 10 1 #.7 333 |0 0 0 - 0 - 121 2 6 167 |10 3 3 450
F—L&E 3 15152 | 13| 34.4 17.33 {000 - 30 100 |73 6 7 25 144 |69 36 9 587
XHEtEY bY—Y 0 B=RE—T4 A nN— O=XAKFEF L=ADO
TE U OREE (%) —BA-HEX100 TEVORERE () =BA-HBEY M TOVIREAR (K) —RRTEBEY N
Y—THMBEE (%) = (F—ERI—R x100+3R x 26— KA x25) ¥ Y—TLU—THYE (%) = (FHIE] x 100+ x50) +3T%

XAROEFET, 2BHEZEABERNL—FR—LBRIRELET.



SINSY e SEE

HaBds 342

F10E £E6AHNL—R—L) —IREBLBEAS REY—F xF7 V5 :

FER 2020/02/15

BERIBAASK

pifeth BRERAP

: 250 JURY : kP F—LI b | B= | 1 2 3 4 5 | &%
BASRBERS :  13:00 £ &E: XH KX ) H—LAlE 0 1 19 25 44
BTERY . 13:48 B F: ED FE LB R ERIT 2 2 25 21 52
HARRT . 0048 HEE: HE == A FR| 00:20 | 00:25 00:45

B ) H— LALE Vs et

Ligare

1set 2set 3set 4set bset 1set 2set 3set 4set bset
1M 3 711 3 7 ik HYR B OB T mE 2 12 6 12 6 10
(10) 10) IR a7 a—F (5) (1)
2 8 4.2 8 4 3fk3EK & " 708K g8 1 10 2 8 1

(12 9 B = 14 a1 (5)

39 971 - - - BA LTS 10-9 RS i : :
B FIE B E= BT R TH& /e EX= ST
RIEE (%) 37.0 73 27 2 Rk n 34 2 47.9 RIEE (%)
REE (%) 0.0 0 0 0 (RN THRYY) 2 1 0 50.0 REE (%)
v FEH(R) 3.00 — 6 — Jowvy — 6 — 3.00 vy FEH(R)
SR (%) 12.2 45 3 5 H—7 51 3 3 14.7 SR (%)
ARIIEE (%) 41.5 — — H—JLi—J — — 39.7 AR IIEE (%)
F—LTHI b+ 2 — 8 — HFOIR — — 3 F—LTHIE
118 44 1 &5t 122 52 5
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
0 Al Hy - * 5 - % e v e alwm B e TR g
3] L)
1 FE B 0
2 Mg HhH 2 mom 6 0 0 00 0.00 |O 0 0 - 1005 [6 01 2| 42 Jo o0 o0 -
3 5% BF 2 mm 11,0 1000 050 |0 0 0 - 20 100 |8 1 2 3 156 [0/0 0 -
4 INB S5 2 M m 1560 400 300 |0 0 0 - 0 - 7. 0/0 2 71 196 5| 447
5 | L %% by 2 L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 502 2| 600
6 | C ®H HF 0
7 KE T4 2 M m 1212 83 050 |0 0 0 - 105 [8 01 3 6.3 |0 0 0 -
8 = M 2 mm 11,5 0 455 250 |0 0 0 - 1005 |9 0/ 0 3| 83 |17 4 4 353
9 miE BE 0
10 e B 2 0 0O 10,70 700 350 |0 0 0 - 1005 [4 21 1] 50 |2 0 1 250
1 Fk Em 2 mom 1770 #.2 350 |0 0 0 - 0 - 3.0 00 1 83 |41 1| 315
12 HH LD 1 O 10/ 0 00 0.00 |0 0 0 - 0 - 0 0/0 0 - 00 0 -
F—LA&F 2 7327 2 31.0 13.50 [0 00 - 6 300 |45/ 3 5|15 122 |47 13 13 41.5
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
. L . £ N B
Bt ch S8R4T B, 54 5lursx B P lnex 2 |8 Y |luexn 2 |zmm F
] 2]
1 B EE 2 mm 10 41 400 200 [0 0 0 - 0 - 7 112 179 [olo0]o -
2 it B 2 mm 9 5 0 556 250 |2 1.0 5.0 |1 05 |4 0 0 2 125 [1 00 0.0
3 1B kX 0
4 EE SOH 0
5 KE fE%E 2 0 0O 3.2 0 66.7 100 [o 0o - 0 - 31,0 2/ 50 |2 0 0 00
6 T =2 2 m m 249 1 315 450 |0 0 0 - 20 100 |11 1 2 6 182 [12/1 6 333
7 BE HET 0
8 NE FE= 2 mm 1680 500 400 |0 0 0 - 0 - 6 0/ 0 2| 83 |13 2 8 462
10 | C mE =27 2 mm 220 100.0 100 [o 0o - 105 [11.0 0 4 91 00 0 -
1 —# A% 2 0 O 0 0 0 - - 00 0 - 0 - 3.0 0 1 83 [0/0 0 -
12 N B 2 mm 7.4 0 5.1 200 |0 0 0 - 2/ 100 |6 0 0 2 83 |[0/0 0 -
13| L K@ %z 2 L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 11,43 500
F—LA&E 2 7134 2 419 17200 |2 10 500 |6 300 |51|3 3|21 147 |39 7 17 39.7

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




108 2E6AFINL—R—L)—TREBREBAS RBU—F &7 =15 BEEITHATSI

@ gﬁéﬁ%ﬁﬁ&‘ He®S 343 BMER 2020/02/15 Bt BREED

BEH: JURY : F—L b [BEm | 1 2 3 4 5 | A&t
BSAESRT . 14:00 F & =ZUFJRIT 0 0 0 0 0
R TESRA - CLUB EHIME 2 2 25 25 50
HEemm ¥ES : HErmE

o) _ _
C = BUFJIRF Vs CLUB EHIME
MUFG
1set 2set Jset 4set bset 1set 2set 3set 4set 5set
E B
I—F
O0R%8EY R AR%38K
2 % = 1
- - - - - BALTY k - N - Z Z
FTil HE Ba x5 Bt B S HE [T P ST
REE (%) 0.0 0 0 0 TR Y s 0 0 0 0.0 REE (%)
REE (%) 0.0 0 0 0 (RN THRYY) 0 0 0 0.0 R E (%)
v FEH(X) 0.00 — 0 — Jaovy —_ 0 —_ 0.00 v FEH (R
KR (%) 0.0 0 0 0 H$—7 0 0 0 0.0 KR (%)
FXIhEE (%) 0.0 — — — H—JLI—7 — — — 0.0 I E (%)
F—LTFIL bk 0 — 0 — HFEDIR — 0 — 0 F—LTAIIL
0 0 0 &5t 0 0 0
Higt v b TAYY (R o TEvY) Jovy H—7 H—JLi—7
t . t PN
=BUFUSRST B, s 4 slumsx B Y lues 2 |8 Y |m &% 2 2 £ % %
;i ........ $ E'Z |||||||| $ ZF |||||||| x E E x
1y t
F—L&E 0
Higty + TAYY (R o TEvY) Jovy H—7 H—JL1—J
e #* 5 #* 5 e AR A
CLUB EHIME AR I Yol s x B Y |Texwm 7 2| B
Bl1 2 3 4 5|} E R E ~ g I b
5 ¥ RR Ok F BAK E |m o3 (BRRR g W g
1y 1
F— L& 0
KHBEY hv—4 . BM=RE4—F LT AL N— O=%RKEF L=UAD
TAYIREE (%) =FBR-THx100 TAYIREARY (X) =B&E-HBEY b TRV IREREK (K) =BA-HEEY MK
H—THRE (%) =(H—ERI—ZAX100+3E x25—%H x25) —## H—T L —THUE (%) = (BYE] x100+KI[R] x50) T4k

XAROEFET, 2BHEZEABERNL—FR—LBRIRELET.



gﬁéﬁ%ﬁﬁ&‘ He®&S 344  BER 2020/02/15 Bt BREED

108 2E6AFINL—R—L)—TREBREBAS RBU—F &7 =15 BEEITHATSI

BEHN 115 JURY :  JkfEl & F—Ls byb | BER | 1 2 3 4 5 | &%
BRSRBERE . 16:15 X FE: #HAK EM ILFS R RERT 2 2 25 25 50
wTREEE ;. 16:59 B F: A E#H RZE7 B 0 1 16 15 31
HERM: 00044 HEE: FRK @#= & mERI| 00:21 | 00:20 00:41

LB ch S 4R 17 Vs NRET RHRE
1set 2set 3set 4set bset 1set 2set 3set 4set bset
12 6 10 2 12 6 it sE E OB B FHRE 6 11 15 6 11 15
(8) (4) a—F B Fid 3) (3)
2 7 1.8 1 10 808K ! 068K 4 16 14 16 1
) (7 (5 16 B = 6 (10)
o - - - - SALTIH ity 151t - - -
ST & B EX= BT i TH B EY= ST
REE (%) 35.4 79 28 5 TRy 81 16 10 19.8 RIEE (%)
REE (%) 0.0 6 0 1 (RNYITRYY) 2 1 0 50.0 REE (%)
£y FEH(R) 3.00 — 6 — Javsy — 4 — 2.00 v FEH (R
BEE(%) | 1.7 49 1 1 $—7 32 1 4 1.8 | mBRE%)
FXIhEE (%) 44.6 — —_ —_ H—JLi—7 —_ —_ — 41.5 I E (%)
F—LTFI b+ 4 — 15 — HFOIR — 10 — 1 F—LTFI bk
128 50 6 &5t 113 31 14
sty b TEYY (WA YITE YY) 20vY $=7 $—JLi—7
; £ ; t B
METE T 2123457 ms 2 Pluss 20w Y luszan Z |zww §
ayi ﬁ ....... $ 3'1 ﬁ ....... $ M :F & ........ % $ %{ é E x
# 1)
1 B =2 2 W m 8 3 0| 3.5 .50 [0 0 0 = 0 = 2.0 0 0 00 Jo o0 o =
2 it R 2 ' m u 12,3 1 250 .50 |30 0 00 |O - 4lo0fof2| 125 |3 0 1 167
3 IEEF k=R 0
4 &b 1 O 1.0/ 0 0.0 000 [0/0/ 0 - 0 - 4.0 03 188 |o|lo o -
5 KE BEE 1 O 6 11 167 .00 |0 0 0 - 0 - 10 0 1 250 |11 0/ 100.0
6 T =2 2 m u 135 1 385 250 |2 0 1 00 |1 05 |8 0 0 3 94 |7 2 3 500
7 BE HET 2 WO 1406 2 429 300 |0 0 0 - 0 - 6 0 0 4 167 |3 1 2 667
8 INE FZ 2 0 m 13,60 46.2 3.00 |0 0 0 - 0 - 2.0 0 0 00 |4 1 2 500
10 | ¢ wE S2F 2/ m m 110 0 00 0.00 [0 0 0 - 0 - 6 1 0 1 28 |o 0o o -
1 —# Ex 1.0 0 0 0 - - 0/0/0 - 0 - 2.0 0 2 20 |o 0 0 -
12 N 2 mm M4 0 364 200 [1 0 0o 00 |5 25 [14 0 1 4 54 [1]0/0]| 00
13 |L AR *= 2 L L 000 - - 000 - 0 - olojoo - 9 3 1 389
F—L&E 2 79 28 5 35.4 1400 [ 6|01 0.0 |6 300 |49 1 1 20 11.7 |28 8 9 446
HiE+ Y b TEYY (RN I TEYY) Jovy H—7 H—JLi—T
+ . + B Rk
RRETAHR B, aslumx 2 7 lusx 2 |lm Y lnexn 2 |zwmwm B
1) 2]
1 B BED 2 M m 18 5 3 2.8 250 [1 0 0 00 [1 05 [5 0 0 1 50 |2 2 0 100.0
3 Hh FER 2 0 O 2.0/ 0| 00 0,00 (000 - 105 |o/o0o 0 0 - 0 0 0 -
4 s K5 2/ m m 2000 00 0.00 [0 0 0 = 0 = 6 1 1 3 2.0 |o o o =
5 | L %@ R 2 L L 0/ 0 0 - - 00 0 - 0 - olololo - M 2 4 364
6 FiF % 2 m m 3% 6 2 1.1 300 |1 1 0 1000 [1 05 |4 0 1 2 63 |[7/0 2| 143
10 | ¢ x& =z 1 O 000 - - 0/0/0 - 0 - 30,0 0 00 o 0o o0 -
1 FH HEL 2 m m 7.1 2 143 050 [0 0 o0 - 0 - 5.0 0 1 50 [0 0 0 -
15 BRIE BT 2/m m 5020 400 .00 |0 0 0 - 0 - 5.0 1 3 100 |27 8 9 463
16 R RE 2 m u 12 2 3 1617 .00 |0 0 o0 - 105 [4/0/1/0 -63 |0 0 o0 -
F—LaE 2 81 16 10 19.8 800 |2 1,0 5.0 [4 200 |32 1 4 10 7.8 |47/12/15| 415
XHEtEY bY—Y 0 B=RE—T4 A nN— O=XAKFEF L=ADO
TE U OREE (%) —BA-HEX100 TEVORERE () =BA-HBEY M SOV REAM (F) —RATBEEY N
Y—THMBEE (%) = (F—ERI—R x100+3R x 26— KA x25) ¥ Y—TLL—THBIE (%) = (HBIIE] x 100+ KB [B] x50) ~4T%

XAROEFET, 2BHEZEABERNL—FR—LBRIRELET.



EEN:&fEsmiR wews 345 min 2020/02/16 e S

108 SEOAHNL—K—LU—REBREBXSE RBU—7 k7 R HERIHSAESK

HEY 200 JURY : kP F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS :  10:00 £ FE: BHAE EH ILFL R ERT 2 2 25 25 50
WTHERD:  10:55 Bl T #K =W CLUB EHIME 0 1 23 22 45
HABSRT . 00:55 HEE . EE HE A FR| 00:26 | 00:26 00-52

WL F ch L8R 1T VS CLUB EHIME
1set 2set 3set 4set bset 1set 2set 3set 4set bset
8 2 12,2 12 6 st &E OB X8 Ei 10 11 13,10 11 13
4) | (®) Ml EA a—F (4)
1 10 6/8 1 10 908K & " 5REARK 16 17 1 16 17 1
a1 a1 18 B = 14 14
s | ot - - - 54 LTS ] - - -
B FIE B E= BT R TH& /e EX= ST
RIEE (%) 33.7 89 30 2 Rk 99 29 8 29.3 RIEE (%)
REE (%) 100.0 1 1 0 (RN THRYY) 1 0 0 0.0 REE (%)
v FEH(R) 1.50 — 3 — Jowvy — 1 — 0.50 vy FEH(R)
SR (%) 14.8 49 3 1 H—7 46 8 2 25.5 SR (%)
ARIIEE (%) 37.2 — — — H—JLi—J — — — 46.8 AR IIEE (%)
F—LTHI b+ 4 — 14 — HFOIR — 1 — 4 F—LTHIE
138 50 3 &5t 145 45 10
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
- i % Y % I o % R g
WIBLch R IR1T 212 54 5|0B% Clpes oz |8 Y mAxm g 2wy
ﬁ 3": EF mn mn L—g mn q: mn 3": E E 3‘—3
3] L)
1 A =2 2 M m 6 4 0 667 200 |0 0 0 - 1005 [4 1/0 1] 3.3 |Jo o o0 -
2 it B 2 mom 15 41 267 200 |1 1,0 1000 [1 05 |5 0 1 2 50 1.0 0 00
3 IR kR 0
4 EHE Soh 1o 00 o0 - - 00 o0 - 0 - 1t/o0/0/0 00 0 0 -
5 KE BEE 1 O 5.3 0 600 300 |0 0 0 - 0 - 2,.0/0 2| 20 |2 0 0 00
6 T =2 2 M m 238 1 348 400 |0 0 0 - 0 - i 1,03 125 |[11/3 2| 364
7 BIR MEF 0
8 NE EE 2 mm 328 0 250 400 |0 0 0 - 0 - 5 00 3| 150 |22 8 3 432
10 | C mE =27 2 mm 11,0 100.0 050 |0 0 0 - 1 05 [10 1/0 4| 20 |0 0 0 —
1 —# AR 2 0 O 00 0 - - 00 0 - 0 - 3.0/0 0/ 00 Jo 0 0 -
12 Mg B 2 mom 7.2 0 286 .00 |0 0 0 - 0 - 5 0/0 3| 150 |0 0 0 -
13| L K@ %z 2 L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 7.2 1 3.7
F—LA&F 2 89 30 2 | 33.7 15.00 [ 110/ 1000 |3 1.5 |[49/3 |1 /18| 148 |43 13 6 37.2
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
Hy % 5 #* 5 B e X R g
CLUB EHINE 01 2 3 4 58X FEEE o2 |B O HE22 2 £§27 5
# o= b R R 2= = EO|F|RR = B B o=
] 2]
1 R k=T 2 m m 21,0 500 050 |0 0 0 - 0 - 8 20 1| 281 o 0 0 —
2 tErRK AE 0
4 R EiK 1O 00 0 - - 00 0 - 0 - 0 0/0 0 - 0 00 -
9 | L 7T Ea 2 L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - M. 4 2 455
10 WA BaE 2 mm 1870 389 350 |0 0 0 - 1 05 [8 2,0 5| 406 |21 9 4 524
1 K BF 2 m m 17,4 0 235 200 [0 0 o0 - 0 - 6 0 1 3 83 |40 1 125
13 BB HZE 2 mm 338 5 242 400 |10/ 0 00 |o - 124 03 396 [0 0 0 -
14 ol 1O 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 00 0 -
16 | c sm 58 2 m m 1342 308 200 |0 0 0 - 0 - 6 00 3| 125 |0 0 0 -
17 HEE BB 2 mm 6 5 1 31.3 250 |0 0 0 - 0 - 6 01 2| 42 |11 4 3 500
F—LA&E 2 9929 8 | 29.3 4.5 [1 0]/0 00 1 050 |46 8 |2 17| 255 |47 17 10 46.8
XtHHEtEy bv—0 0 B=RE—T 4 5A0nN— O=XAKEF L=UADO
TH YD REE (%) —BA-HTEX100 TR VORERE (K) —BA-HBEyY FH SOV REAM (F) —BATEHEY MK
Y—THMBE (%) = (F—ERT—2R x 100-+3E x 26—k A x25) T8 Y—TLU—THBE (%) = (HHE] x100+HEHN[ER] x50) +T%

XABOEER. ARHMEADA L—F—LBERELET.



SINSY e SEE

Ha®ES 346

FER 2020/02/16

pifeth BRERAP

E10E 2ECAHNAL—R—ILY—TREBEEBAS RBU—F 17 =5 BERIBATESK
: 250 JURY : kP F—LI b | B= | 1 2 3 4 5 | &%
BHBAEERE - 11:26 £ F|/: @ EF—ER ) H—LAlE 2 2 25 25 50
BT 12:16 B BT AR QOFEF #ZEHMAVCsala 0 1 21 20 41
HABM: 0051 HES: tE BE HERMH| 00:24  00:24 00-48
E @,
B Y H— LAl Vs # % &M@VCsala (!
Ligare
1set 2set 3set 4set bset 1set 2set 3set 4set bset
1M 3 710 3 7 ik HYR 2B oz & 14 2 9 14 2 9
(10 (6) (6) IR a7 J—F A 8) (8)
2 8 4 12 8 4 AR%3RX & " 528K 1 5 4.1 5 4
(12) an 11 B = 12 (6) (6)
gl = 1 R I o I R I
i e B R BhR e B ER i
RIEE (%) 42.0 81 34 3 Rk 82 25 5 30.5 RIEE (%)
REE (%) 100.0 1 1 0 (RN THRYY) 6 1 1 16.7 REE (%)
v FEH(R) 2.50 — 5 — Jowvy — 2 — 1.00 vy FEH(R)
SR (%) 13.3 49 4 5 H—7 42 3 1 12.5 SR (%)
ARIIEE (%) 57.5 — — H—JLi—J — — — 48.8 AR IIEE (%)
F—LTHI b+ 3 — 7 — HFOIR — " — 1 F—LTHIE
130 50 8 &5t 124 4 6
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
0 Al Hy - * 5 - % e v e alwm B e TR g
3] L)
1 FE B 0
2 Mg HhH 1 m 2 1.0 500 100 [o 0o - 0 - 2.0 0 0 00 |0/ 0 o0 -
3 55 BT 2 mom 220 100.0 100 [o 0o - 1005 [5 0/0 2/ 100 |0 0 0 -
4 INB S5 2 M m 166 1| 375 300 [0 /0 0 - 0 - 9 0 1 3 56 |75 1 786
5 | L %% by 2 L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 11,0 1000
6 | C ®H HF 2 00O 0o o0 - - 0o o0 - 0 - 1o/ 1]/0 250 |20 2| 500
7 KE T4 2 M m 1571 46.7 350 |0 0 0 - 2/ 100 |5 0 0 0 00 [0/0 0 -
8 = o 2 mm 21111 52.4 550 |1, 1,0 1000 |1 05 [10 2 0 3 275 [15 6|3 500
10 R B 2 0 m 185 0 27.8 250 |0 0 0 - 0 - 9 12 3| 139 |7 2 2 4.9
1 *k Hl 2 m O 7.2 0 286 .00 |0 0 0 - 0 - 1o/ 0/ 1 250 [0/ 0 0 -
12 HH LWoE 2 0 m 00 0 - - 00 0 - 1005 |7 11 3| 214 |8 4 2 625
F—LA&F 2 8134 3| 420 17200 [ 1 10 1000 |5 250 |49|4 5|15 13.3 |40 18 10 57.5
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
#Z & H\VCsal i T8 e R s iqlelel 2 |a 5 dmxy B g id o om
R Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
1 Wk &F 2 mm 1340 308 200 [0 0 0 - 0 - 8 1,0 1| 156 |23 10 4 522
2 By 2B 2 mm 9 3 0 333 .50 |0 0 0 - 1005 |[5 0 1 1 00 |0 /0 0O -
3| L BE gEE 2 L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 6 2 1 4.7
4 | C Mk pE 2 mom 3.0/0 00 000 |1, 0 0 00 |o - 5.0 0 2 100 [0/ 0 o0 -
5 *H 2B 2 mm 16 7/0 438 350 |0 0 0 - 0 - 8 20 1| 281 |1 0 0 00
6 BR % 2 00 0 0 0 - - 0 0 0 - 0 - 0,0/ 0 0 - 0 00 -
8 gk ®A 2 0 0O 00 0 - - 00 0 - 0 - 4.0 0 1 6.3 [0 0 o0 -
9 BRE CLH 2 mm 217 4 259 350 |2 1,0 5.0 [1 05 [8 0 0 3 94 [13 5|3 500
10 INK BRE 0
14 0 BE 2 mm 144 1 286 200 |3 0 1 0.0 |0 - 4.0 0 1 6.3 [0 0 o0 -
F—LA&E 2 8225 5 305 1250 [6 11| 167 |2 100 |43 |1 /10 125 |43 17 8 48.8

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




gﬁéﬁ%ﬁﬁ&‘ He®&S 347  BMER 2020/02/16 Bt BREED

108 2E6AFINL—R—L)—TREBREBAS RBU—F &7 =15 BEEITHATSI

s\EH: 140 JURY : kR F— L b | B | 1 2 3 4 5 | &&t
BHtRBER . 12:47 £ #: EQD FTHE tfa—xTFV> 1 1 21 25 17 63
feTEsf: 1357 Bl E¥: WT = b3S BEBE 2 2 25 20 25 70
HEwE . 01110 ¥FEE: BN T8 S&RRI[ 00:21 1 00:22 | 00:21 01:04
EPSON @ TOYOTA
A a—xTTY> V§ 32 E8H=HE
1set 2set 3set 4set bset 1set 2set 3set 4set bset
73 1.7 3 1,7 3 1 g BE BB £F @B—m 75 2 5 2 6 7 5 2
(2) 3) 1L #e a—F KB i (10)
1M 9 8 11 9 8 11 9 8 28568 ® 15688 121 6 7 12 1 12 1 6
(2) 10 B = 8 (10)
:gzgg 23:20 153—_1220 - - B84 LTS 13:15 }gZ;g 16:11 - -
S FIE: B £ B s TH B/ EY: SHi
REE (%) 31.5 111 35 14 TR 110 40 8 36.4 REZE (%)
REE (%) 0.0 4 0 1 (RNYITEYYT) 2 0 0 0.0 REE (%)
v Y E) 1.33 — 4 — Jowvy — 4 — 1.33 | v hFEHE)
MRE (%) 1.7 64 1 3 H—7 69 6 11 15.6 HRE (%)
RRINE (%) 42.1 — — — HF—JLi—T — — — 39.3 RRINEE (%)
F—LTFIL bk 3 — 23 — HFOIR — 20 — 4 F—LTFI bk
175 63 17 A5t 179 70 19
HistE Y b TEYY (I EEPY)) Jovy H—7 H—JL—J
L a—TFV: o i1 8 & R 15 i1 8 & R % -5 I/ £ o 2 = g g]k 2
g Bt slBER E L |xRE E|R & (RRRE w2
5 2]
1 | C thiE %58 3 mmm 50 0 0.0 000 |0 0 © - 0 - 1m o 2 1 -23 |17 4 4| 353
2 R &% 1.0 200 1 0.0 000 |00 0 - 0 - olojolo - 0o o0 -
3 i BER 3 m mm 35 16 5 45.7 533 |0 00 - 4 133 |9 0 0 5| 139 |0 0 0 -
5 | L paiE mx 3L L L 0/0 0 - - 0/0 0 - 0 - olojoo - 0o -
6 iR ER 0
7 it R 3/m mm 236 2 26.1 200 |1 0/0 0.0 0 - 10 0/0 5 125 (74 0| 571
8 Bt ExRF 3 m m m 2807 4 250 233 |1 00 0.0 0 - 2.1, 0 6 2.8 |2 6 2| 350
9 BE OFH 3'm mm 82 1 250 067 |00 0 - 0 - 001 5 100 [1/ 0 0 0.0
11 ik %5 3’ mmm 8 4 0 500 1.33 [0 0 0 - 0 - 8/0 0 4| 125 |0 0 0 -
12 S BEE 1.0 20001 0.0 000 |[2]0 1 0.0 0 - 10/0/ 1 250 [0/ 0 o0 -
13 KB FEAE 1 O 00 0 - - 00 0 - 0 - 30 0 2 167 |0 0 0 -
15 | L /NERE 3L L L 0/0 0 - - 0/0 0 - 0 - 0/ 0 0/o0 - 12.7/0 583
F—L&E 3 111,35 14 31.5 1.67 4]0 1 0.0 4 1.33 |64/ 1 3 29| 11.7 |57 216  42.1
HiE+ Y b TEYY (RN I TEYY) Jovy H—7 H—JLi—T
Y #* 5 #* 5 ) AR A
FIsBEEE 512345;;1’?;& = ‘ 8% % = & g‘i’?% % g%lﬂ s
] ]
1 wA & 3 m m m 17 81 411 267 |0 00 - 0 - 10 2 4 3 175 [0 0 o0 -
2 #AR xXm 3mmEm 18 6|1 333 200 |0 00 - 1 03 |16 2|2 9 234 [ -
3 0 51 0
4 | L mF £ 3 L L L 0/o0/o0 - - 0/0 0 - 0 - 0/ 0 o0fo - 12 22 2.0
5 i BE 3 m mm 2812 3 42.9 40 |0 0 0 - 2 067 |13 .0 0 4 7.7 00 o0 -
6 Pk 5% 3/mmm 3/0 0 0.0 000 |00 0 - 0 - M 2 1,8 28 [0 0 0 -
7| C 2F £x 3’ m m m 2010 2 50.0 3.33 |2 00 0.0 1 03 |6 01 1 0.0 |25 10 8 56.0
10 WA S 2.0 O 0/0 0 - - 0/0 0 - 0 - 3.0 11 0.0 1.0 0 0.0
12 Al HE 3 m m m 24 4 1 16.7 1.33 [0 0 0 - 0 - 700 2 4 7.1 |23 4 6 304
F—L&E 3 110 40 8 | 36.4 1333 [2 00 0.0 4 1.33 |69 6 11 30| 156 |61 16|16 39.3
XHEtEY bY—Y 0 B=RE—T4 A nN— O=XAKFEF L=ADO
TAYDREE (%) =BAHTEX100 TRUVORERM (K) —BA-EBEY MK TOVIREAR (K) —RRTEBEY N
Y—THRE (%) =(H—ERI—R x100+HE x 26— H x25) ¥ Y—TLL—THBE (%) = (IR x 100+ FH[R] x50) +3TH

XAROEFET, 2BHEZEABERNL—FR—LBRIRELET.



@

B 1 FNSetse

HE10E £E6AHNL—KR—L)—SREBLEBEAS REBY—F xF |5

Ha®S 348

FiEe 2020/02/16

BERIBAASK

Bk B AR

BEH: 90 JURY : KRl = F—L tyb | Bl 1 2 3 4 5 | &%
BSAEERT . 14:30 F &B: ZE ME RRETRAHE 0 1 14 17 31
BTER . 1512 B F: Ik =H # % MVCsala 2 2 25 25 50
HERM . 00:42 HES: HE EE A EERE| 00:18 | 00:21 00:39

. ’E!
RRAE7 A#HB Vs # Z = HMVCsala i‘ﬁlfi z
1set 2set Jset 4set bset 1set 2set 3set 4set 5set
6 11 15| 6 11 15 B FRE BB i & 2 9 14 2 9
a—F FOE i
4 16 1 4 16 1 OB 78R & #E 6R% 28K 1 5 4 1 5 4
®) 3) 7 % = 14 10 ®)
s | e | - - : 54 LT b - : - : -
FTil HE Ba x5 Bt B S HE [T P ST
REE (%) 25.3 79 20 3 TR Y s 72 33 6 45.8 REE (%)
REE (%) 100.0 1 1 0 (RN THRYY) 9 3 3 33.3 R E (%)
v FEH(X) 0.00 —_ 0 — Jowvs —_ 8 — 4.00 v FEH (R
MEEO) | 117 32 2 2 $—7 49 0 2 8.7 | HRE(%)
BRI (%) 42.6 — — — $—JLL—T — — 65.0 AR (%)
F—LTFIL bk 4 — 9 — HFEDIR — —_ 1 F—LTFI bk
111 31 5 &5 121 50 8
Higt v b TAYY (R o TEvY) Jovy H—7 H—JL—J
RRET7REE H i 8 & R E 18 R g ? e xen 2 |= % gj}z 2
1y t
1 Hg T 2 Hn 25 4 1 16.0 2.00 0 0 O = 0 = 4 0 1 1 0.0 4 1 2 50.0
2 B BE 0
3 M *h 2 00 611 16.7 0.50 |0 0 o0 = 0 = 1t 00 0 00 [0 0 0 =
4 | ¢ mH RE 2 W m 11,0 1000 05 |0 0 0 - 0 - 5/1/0/2/| 3.0 |oflolo -
5 | L sm g 2 L L 00 0 = = 0.0 0 = 0 = 00 0 0 - |2 6 3 315
6 FiF % 2 H n 20 8 |1 40.0 4.00 1.1 0 100.0 0 - 7 0 0 2 7.1 12 3 3 37.5
1 FEH HE 2 H n 5 1 0 20.0 0.50 0 0 O = 0 = 5 0 1.0 -5.0 0 0 0 =
15 8RiF ¥ 2 H n 7 20 28.6 1.00 0 0 O - 0 - 6 1 0 3 29.2 1.2 8 54.5
16 B A 2 Hn 15 3 0 20.0 1.50 0 0 O = 0 = 4 0 0 1 6.3 0 0 0 =
F—LEEH 2 79 120 3 25.3 10.00 1.1 0 100.0 0 - 322 2 9 1.7 47 112 16 42.6
Higty + TAYY (R o TEvY) Jovy H—7 H—JL1—J
; L ; 4 B
# 2 #&EVCsala B, s slursx B Plnex 2|8 Y lusxn 2 lzmwm F
o B AR E  BRR F |8 o3 |ARRR g K- 3
1y 1
1 ik &F 2 H n 17 8 0 47.1 4.00 3 2 0 66.7 2 1.00 18 0 1 8 9.7 13 7 1 57.7
2 Bl =k 2 mn 4 2 0 50.0 1.00 0 0 O - 0 - 8 0 1 4 9.4 0 0 0 -
3 L RE KER 2 L L 0 0 O = = 0 0 O = 0 = 0 0 0 O = 8 6 0 75.0
4 C X @ax 2 mn 2 0 0 0.0 0.00 0 0 O - 1 0.50 6 0 0 3 12.5 1.0 0 0.0
5 *5 28 2 W m 8 5 0 625 250 [0 oo = 3 150 |3 0 0 1 83 |1 1 0 1000
6 BR E 0
8 i 1.0 00 0 = = 0.0 0 = 0 = 00 0 0 = 000 =
9 HR EH 2 H n 24 113 2 54.2 6.50 3 11 33.3 2 1.00 8 0 0 1 3.1 4 3 1 87.5
10 IR FRSE 1.0 0 0 O = = 0 0 O = 0 = 1. 0 0 1 25.0 2 1 1 75.0
14 M ExR 2 H n 17/ 5 4 29.4 2.50 3 0 2 0.0 0 - 5 0 0 1 5.0 1.0 0 0.0
F—LEEH 2 72 133 6 45.8 16.50 9 3 3 33.3 8 4.00 49 0 2 19 8.7 30 18 3 65.0

XHEtEY Fv—2

WM=RA—T 45 A\—

O=%X{EF L=UAXD

TRAYIREE (%) =FRTH*x100

TAYIRERR () =BE-HBtEY b
H—THRE (%) =(H—ERI—RAX100+Ex25—%kHx25) —#TH

TRy IREAR () =BR+-HBEEY b
Y—TLI—THME (%) = (RIE]x 100+ [R] x50) +TH

KAZDEMFER, ABUFEEABRNL—R—LBRIZFEBLET.




gﬁéﬁ%ﬁﬁ&‘ He®S 349  BMER 2020/02/16 Bt BREED

108 2E6AFINL—R—L)—TREBREBAS RBU—F &7 =15 BEEITHATSI

@

BEY JURY : F— L b [BEm | 1 2 3 4 5 | &&t
BEISBSRS . 14:00 X & =BUFJERIT 0 0 0 0 0
T RS B - Fa3sBEHE 2 2 25 25 50
HERRE HIES : RO

( @ TOYOTA

o) - _
=#ZUFJERTT VS 342 EHEE
MUFG
1set 2set 3set 4set bset 1set 2set 3set 4set bset
BB
a—F
OR98K & H 25568
2 B = 10
Z Z Z Z Z BALTY - - - Z - -
S FIE: B £ B s TH B/ EY: SHi
REE (%) 0.0 T2 0.0 RIEE (%)
REE (%) 0.0 (RN I TRYY) 0.0 REE (%)
£y FEH(R) 0.00 Jaovy 0.00 v FEH (R
R E (%) 0.0 H—7 0.0 HEE (%)
R (%) 0.0 H—JLL—T 0.0 FRINE (%)
F—LTFIL bk 0 HFEDIR 0 F—LTFI bk
&5
HistE Y b TEYY (I EEPY)) Jovy H—7 H—JL—J
i # 5 # 5 e mI
— = 4= e ) M =1 7 =] P =] S
=#EUFJIRTT 81 2 3 4 5 gfzﬂai % S 1#95& x |# Lol ﬁi% % %UJI)J o
\\\\\\\\ $ E'Z n an x :F an an x E E $
1] 1]
F— LA
ity b TEYY Ry ITE YY) Jovy $=7 $—JLi—7
H # 5 # M ) mIR
NEPET AR I Yol s x B Y |1elxm Z |2umw
B 1 2 3 4 5] T ~ 5 T ~ =2 ol I I
1] 2]
F—LE&EH
XHEtEY bY—Y 0 B=RE—T4 A nN— O=XAKFEF L=ADO
TR UREE (%) —BE-HH=100 TEVORERE () =BA-HBEY M TOVIREAR (K) —RRTEBEY N
Y—THMBEE (%) = (F—ERI—R x100+3R x 26— KA x25) ¥ Y—TLU—THYE (%) = (FHIE] x 100+ x50) +3T%

XAROEFET, 2BHEZEABERNL—FR—LBRIRELET.



